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 B.Com./B.Com. (C.S.)DEGREE EXAMINATION, APRIL 2017.

I YEAR — I SEMESTER

Major Paper I — FINANCIAL ACCOUNTING — I

Time : 3 hours
     

        Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. Write the three golden rules of accounting.

2. What is entity concept?

3. What is Error of Omission?

4. Dawson, a businessman, has invested on 1-4-2000 ` 10,000 in Government securities on which he gets a net interest of 6% p.a. on 31st March every year.  His accounts are closed on 31st December every year.  Find out the interest earned by him but not yet received.

5. Calculate the due dates of bills in the following cases.

i. When the maturity date of the bill falls on 15th August 2002

ii. When the maturity date of bill falls on 26th January 2003

6. Compute Net interest to be credited under Daily balance method from the following data:

· Interest on debit balances: 15%

· Interest on credit balances: 12%

· Total of products: Debit: 1,08,000

· Credit: 31,46,000

7. What is Bank Reconciliation Statement?

8. A machine was purchased for ` 30,000 on 1.1.2006.  This is expected to last for 5 years.  Estimated scrap at the end of five years is ` 5,000.  Find out the rate of depreciation under the straight line method.

9. Calculate insurance claim from the following facts assuming that the insurers met their liability under the policy on ‘average basis’:
A trader’s stock valued at ` 40,000 was totally destroyed.  The stock in the godown was insured for ` 30,000 subject to average clause.  The balance of stock left after fire, appeared in the books at ` 24,000.

10. Define Single Entry.

11. Find out profit from the following data

                                                                                                  `
             Capital at the beginning of the year                         8,00,000

             Drawings during the year                                         1,80,000

             Capital at the end of the year                                    9,00,000

             Capital introduced during the year                              50,000


12. From the following information ascertain Opening stock (i.e. on 1-1-2006)

                                                                                            `
· Purchases made during 2006                              2,50,000

· Sales made during 2006                                      3,25,000

· Stock on 31-12-2006                                              60,000

· Wages                                                                       3,000

· Rate of gross profit on cost                                       25%
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SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions 
13. Write a short note on AS3.

14. Rectify the following errors:

(a) Purchases Book is over cast by ` 300 (for the month of March)

(b) Sales Book has been under cast by ` 200.

(c) Purchase Returns Book has been over cast by ` 75.

(d) Sales Returns Book has been under cast by ` 50.

15. Kannan purchased goods from Raman, the due dates for payment in cash being as follows:

                                `
       March 15        1,000                    Due 18th April

       April 21          1,500                    Due 24th May

       April 27             500                    Due 30th June

       May 15              600                    Due 18th July

       Raman agreed to draw a bill for the total amount due on the average due date.  Ascertain the date.

16. The bank overdraft of Rajini on 31-12-2013 as per cash book is ` 9,000.  From the following particulars, prepare bank reconciliation statement.

                                                                                                                `
· Unpresented cheque                                                          3,000

· Uncleared cheque                                                              1,700

· Bank interest debited in the pass book only                         500

· Bill collected and credited in the pass book only                 800

· Cheque of Ramu  dishonored                                               500

· Cheque issued to Sekar entered in the 

             Cash column of cash book                                           300

17. A machine purchased on 1st July 2013 at a cost of ` 14,000 and ` 1,000 was spent on its installation.  The depreciation is written off at 10% on the original cost every year.  The books are closed on 31st December each year.  The machine was sold for ` 9,500 on 31st March 2016.  Show the machinery account for all the three years.

18. Describe the limitations of single entry system.

19. From the following details find out the credit purchases and total purchases:

                                                                                                             `
              Cash purchases                                                                   29,000

              Bills payable (opening)                                                        7,500

              Bills payable (closing)                                                         2,500

              Creditors (opening)                                                            20,000

              Creditors (closing)                                                             18,000

              Cash paid to creditors                                                        25,000

              Bills payable paid during the year                                     10,500

              Purchase returns                                                                   1,500

              Allowances from creditors                                                      800

              Bills payable dishonored                                                         300
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.
20. Describe the advantages and limitations of accounting.

21. From the following Trial Balance, prepare Trading, Profit and Loss Account for the year ended 31-12-2011 and a Balance Sheet as on that date.

Trial Balance

                                             `                                                            `
        Purchases                 11,870                    Capital                         8,000

        Debtors                      7,580                     Bad debts recovered      250

        Return inwards             450                     Creditors                     1,250

        Bank deposit              2,750                     Return Outwards           350

        Rent                              360                     Bank Overdraft           1,570

        Salaries                         850                     Sales                          14,690

        Traveling expenses      300                      Bills payable               1,350

        Cash                              210

        Stock                          2,450

        Discount allowed            40

        Drawings                      600

                                        ----------                                                  ------------

                                         27,460                                                       27,460

                                        ----------                                                  -----------

Adjustments:

i. The Closing stock on 31-12-2011 was ` 4,200.

ii. Write off ` 80 as bad debts and create a reserve for bad debts at 5% on sundry debtors.

iii. Three months rent is outstanding.

22. A company, whose accounting year is the calendar year, purchased on 1-1-2013 a machine for ` 40,000.  It purchased further machinery on 1st October 2013 for ` 20,000 and on 1st July 2014 for ` 10,000.  On 1-7-2015, 1/4th of the machinery installed on 1-1-2013 became obsolete and was sold for ` 6,800.

Show how the machinery account would appear in the books of the company for all the 3 years under Diminishing Balance method.  Depreciation is to be provided at 10% p.a.

23. Ramesh keeps his books on single entry basis.  Prepare a statement of affairs as on 31.10.2012 and a statement of profit (or) loss for the period ending 31.10.2012.

Assets and Liabilities              1.11.11        31.10.12

                                                       `                    `
Bank Balance                             560 (Cr.)        350 (Dr.)

Cash on hand                                10                  50

Debtors                                       4,500              3,600

Stock                                           2,700             2,900

Plant                                            4,000             4,000

Furniture                                     1,000             1,000

    Ramesh had withdrawn ` 2,000 during the year and had introduced a fresh capital of ` 4,200 on 1.7.2012.  A provision of 5% on debtors is necessary.  Write off depreciation on plant at 10% and furniture at 15%.  Interest on capital is to be allowed at 5%.
_______________
[P.T.O.]
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